Ejercicio 1.- Calcular el dominio de las siguientes funciones:

FUNCIONES

k.g(x)=4x>+5x+8 Dom g =R
LI(x) =3+ 2x —x2 Dom1=[-13]

V9 —x?

x+1

m. m(x) =

Domm =[-33]-{-1}

n.y= e% + 2%‘7

Dom y = R -{0,7}

fi.7i(x) = In(2x +3)

Domn = (—§,+oo]
2

0. k(x) =In(2x+3)+ 1
X

Dom k = (—%ﬁooj —{o}

p. f(x)= seny1—x* Dom f = [_ Ll]
q. f(x) =x> =3x+In5°" Dom f =R

a. f(x) =9 —4x’ Dom f =R

b.g(x) = _xxz Domg = R-{7.~/7}

. h(x) =~ 2;‘2__15x | Domh=R —{-2,3}
d.y:1+i—ﬁ Dom y = R—{0,1}

e f(x) =3 7_xx2 Dom f = R~{N7,~7}

f f(x)=x —% Dom f = (0,+)

g y=x’=5x+6 Dom y = (~e0,2] 0[3,4e0)

h y= ﬁ Dom y = (—,2) 0 (3,+)

i yZﬁ Dom y = R —{2.3}

P G TR

_ 2
£ h(x) = 10g!25 X ,

Dom h =(-5,-4)0(1,5)

Vx?+3x-4
5.y =tg(2x-3) Domf=R—{%+(2k+1)7ZT conkmz}






